
Test Paper : II

Test Subject : LINGUISTICS

Test Subject Code :     K-3817

Test Booklet Serial No. : _______________________

OMR Sheet No. : _________________________________

Roll No. 
              (Figures as per admission card)

Name & Signature of Invigilator/s

Signature :  _________________________________
Name : _________________________________

Paper : II
Subject : LINGUISTICS

  Time : 1 Hour 15 Minutes Maximum Marks : 100

  Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 50

K-3817 1 ��������	
�/P.T.O.

Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example : A B C D

where (C) is the correct response.

5. Your responses to the questions are to be indicated in the OMR
Sheet kept inside the Paper I Booklet only. If you mark at any
place other than in the circles in the OMR Sheet, it will not be
evaluated.

6. Read the instructions given in OMR carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your name or put any mark on any part of the OMR

Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

10. You can take away question booklet and carbon copy of OMR
Answer Sheet after the examination.

11. Use only Blue/Black Ball point pen.
12. Use of any calculator, Electronic gadgets or log table etc.,

is prohibited.
13. There is no negative marks for incorrect answers.
14. In case of any discrepancy found in the Kannada

translation of a question booklet the question in English
version shall be taken as final.
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     LINGUISTICS
Paper – II

Note : This paper contains fifty (50) objective type questions. Each question carries
            two (2) marks. All questions are compulsory.

1. The phoneme is a bundle of abstract
distinctive features or appositions
between sounds.
(A) Pragne school
(B) Geneva school
(C) American school
(D) Scottish school

2. The statement “Linguistic competence
is the knowledge of a language” is
(A) True (B) False
(C) Partially true (D) Partially false

3. Individual variety of a language is
known as
(A) Temporal dialect
(B) Sociolect
(C) Idiolect
(D) Regional dialect

4. Lexical phonology is a programme within
phonology developed by
(A) Paul Kiparsky
(B) K. P. Mohan
(C) Both (A) and (B)
(D) N. Clements

5. Two or more sounds which are
allophones of the same phoneme in a
language are
(A) in contrastive distribution
(B) in complementary distribution
(C) separate phonemes
(D) allophones which are free variants

6. Identify the correct order in which the
following sound laws appear.
(A) Grimm’s law, Verner’s law,

Grassmann’s law
(B) Grimm’s law, Grassmann’s law,

Verner’s law
(C) Grassmann’s law, Verner’s law,

Grimm’s law
(D) Verner’s law, Grimm’s law,

Grassmann’s law

7. Writing system where each sign
corresponds to a sound is
(A) Syllabic (B) Alphabetic
(C) Pictographic (D) Logographic

8. There is no natural connection between
a linguistic form and its meaning. This
view emphasis on
(A) Duality nature of language
(B) Arbitrary nature of language
(C) Social nature of language
(D) Discreteness nature of language

9. N. Chomsky’s book on “syntactic
structures” was published in the year
(A) 1975 (B) 1980
(C) 1965 (D) 1957

10. Following are the types of language
universals
I. Noun

II. Verb
III. Appellative
IV. Adjective
Codes :
(A) Only I, III and IV are correct
(B) Only II, III and IV are correct
(C) Only I, II and IV are correct
(D) Only II, III and I are correct
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11. ����5 0������';'+����
I. ������J�����
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II. 	������)
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III. ��
��
IV. �
�$���-(

(A) I 	��0���� II ��$
(B) I 	��0���� III ��$
(C) II 	��0���� III ��$
(D) III 	��0���� IV ��$

12. �5'-8��659
������-6�;��	�N	��
�
I. (����(5��(�

II. �� ��'�5���(5��(�
III. <k(���U�(5��(�
IV. T�5"lE(�
(A) I, II 	��0���� IV ��$
(B) I, II 	��0���� III ��$
(C) I, III 	��0���� IV ��$
(D) II, III 	��0���� IV ��$

13. PS ���	��2����
I. S →  NP + VP

II. NP →  T + N
III. VP →  Verb + NP
IV. Af + V →  V + Af
(A) I, II 	��0���� III ��$
(B) I, II 	��0���� IV ��$
(C) III, I 	��0���� IV ��$
(D) II, III 	��0���� IV ��$

14. <(�4�����O��
����?�����"����2
� 3���0���
%
I. *���
̀ ��(Onset)

II. (
��8� (Coda)

III. ���N;������(Nucleus)

IV. 	�DVE���(Margin)

(A) I, II 	��0���� III ��$
(B) I, II 	��0���� IV ��$
(C) II, III 	��0���� IV ��$
(D) III 	��0���� IV ��$

15. ;'�D����	���?��(
,��� ! k���0���
%
I. ��(����(�

II. �5'0�N#��(���U
III. 	��N0�J&�
IV. (� m�(���U
(A) I 	��0���� II ��$ (B) I 	��0���� III ��$
(C) II 	��0���� III ��$ (D) III 	��0���� IV ��$

16. ������O��5���';'+�2����
I. ��	�D��	52��-(


II. 	��N0�J&�
III. �� ;4c��(���U
IV. P
��8�h

(A) I, II 	��0���� IV ��$
(B) I 	��0���� III ��$
(C) II 	��0���� III ��$
(D) III 	��0���� IV ��$

17. Xc��Z�(Pin)�	��0����Xn��Z�(bin) ����2�����
X��Z�	��0����XB�Z�?	��

I. 	
̂��I1�N���'����U
II. ��'0
N�(��.�A�	�D2����

III. ��'0
N�(����$��������	

IV. � ����.�A�	�D���F��.�A�2����
(A) I 	��0���� II ��$
(B) I 	��0���� III ��$
(C) II 	��0���� III ��$
(D) I 	��0����IV ��$

18. X?Z�?�����-	���h

I. �� 	�I0����A��

II. <	���0����A��
III. ��a	�E���A��
IV. ��oE���A��
(A) I 	��0���� II ��$
(B) I 	��0���� III ��$
(C) II 	��0���� III ��$
(D) II 	��0����IV ��$
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11. Process of transformation are

I. substitution
II. rearrangement

III. shift
IV. merger
(A) I and II are correct
(B) I and III are correct
(C) II and III are correct
(D) III and IV are correct

12. Case system in Dravidian languages
are

I. Accusative
II. Dative

III. Locative
IV. Distinctive
(A) I, II and IV are true
(B) I, II and III are true
(C) I, III and IV are true
(D) II, III and IV are true

13. P S Rules are

I. S →  NP + VP
II. NP →  T + N

III. VP →  Verb + NP
IV. Af + V →  V + Af
(A) I, II and III are correct
(B) I, II and IV are correct
(C) III, I and IV are correct
(D) II, III and IV are correct

14. The structure of syllable consists of

I. Onset
II. Coda

III. Nucleus
IV. Margin
(A) I, II and III are correct
(B) I, II and IV are correct
(C) II, III and IV are correct
(D) III and IV are correct

15. The verbs relate with

I. transitive
II. inflection

III. derivation
IV. velarisation
(A) I and II are correct
(B) I and III are correct
(C) II and III are correct
(D) III and IV are correct

16. The word formation processes are

I. compounding
II. derivation

III. abbreviation
IV. clipping
(A) I, II and IV are correct
(B) I and III are correct
(C) II and III are correct
(D) III and IV are correct

17. In the words ‘Pin’ and ‘bin’, ‘P’ and
‘b’ are

I. in contrast distribution
II. separate phonemes

III. in different environments
IV. allophones of the same phoneme
(A) I and II are correct
(B) I and III are correct
(C) II and III are correct
(D) I and IV are correct

18. The description of ‘i’ is

I. Closed vowel
II. Low vowel

III. Front vowel
IV. Long vowel
(A) I and II are correct
(B) I and III are correct
(C) II and III are correct
(D) II and IV are correct
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19. E�
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��9�h
�(Error
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%
�� ��
#�������:
(A) (A) 	��0����(R) C��8�����$
(B) (A) 	��0����(R) C��8����0����J
(C) (A) 0����J��(R) ��$
(D) (A) ��$�(R) 0����J

20. E�
����(A)�p��5��I1�N	���
 B50��(��<���0�0
2������"
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��32�����
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%
�� ��
#�������:
(A) (A) ��$�(R) 0����J
(B) (A) 0����J��(R) ��$
(C) (A) 	��0����(R) C��8����0����J
(D) (A) 	��0����(R) C��8������$

21. E�
���� (A)� p� ��	�E�5	��2���� ������J��� ��
��7
������5	�0�E�
�	��0����T��"0
2�����������J����� ! k0�
�5.���2�����(cohesive devices).
�,7�R�(R) : <	�����S�N������2
�������5	�&E0�
F�
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�� ��
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(A) (A) 0����J��(R) ��$
(B) (A) ��$�(R) 0����J
(C) (A) 	��0����(R) C��8������$
(D) (A) 	��0����(R) C��8����0����J

22. E�
����(A)�p�?�
�" �����o W	��(
,��� ! k���
� �����o W	��%
�,7�R� (R) : <@�E�	��0����
(54rN@�E�C !	��
<	�
 n0�	5��	��%
�� ��
#�������:
(A) (A) ��$�	��0����(R) 0����J
(B) (A) 	��0����(R) C��8������$
(C) (A) 0����J��(R) ��$
(D) (A) 	��0����(R) C��8����0����J

23. E�
����(A)�p���'&+� ��������	�a���'&
?�
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� ��
%

�,7�R�(R) : -	
�(����(����� ! .�2���������2���
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(A) (A) 	��0����(R) C��8������$

(B) (A) 	��0����(R) C��8����0����J

(C) (A) ��$�(R) 0����J

(D) (A) 0����J��(R) ��$

24. E�
���� (A)� p� �5.�(�� ��'0�N��2����� \���������
��'0�N��2����_� �5	�D��N	5��!��s� ����	�2�E
(closed classes of words) �
����0���
%

�,7�R� (R) : �5.�(�� ��'0�N��2����� 659
��
����(
��1�	����"�)
=f���0��	
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�� ��
#�������:

(A) (A) 	��0����(R) C��8������$

(B) (A) 	��0����(R) C��8����0����J

(C) (A) 0����J��(R) ��$

(D) (A) ��$�(R) 0����J

25. E�
���� (A)� p� <��aUE�F��	5(�N��� (�0�IE	��
1����N	5���K�
7�<�����"�PRO C ����(��
���05��
%

�,7�R�(R) : PRO ?����.�A�5N0��(�������-
��

<��aUE�	5(�N���(�0�IE	5����0���
%

�� ��
#�������:

(A) (A) 	��0����(R) C��8����0����J

(B) (A) 	��0����(R) C��8������$

(C) (A) ��$�(R) 0����J

(D) (A) 0����J��(R) ��$
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19. Assertion (A) : ‘Error’ analysis
undertakes a systematic study of the
errors made by language learners.

Reason (R) : It tries to find out the
solution for the ‘errors’ they make.
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is false, (R) is true
(D) (A) is true, (R) is false

20. Assertion (A) : Analogy destroys the
paradigmatic irregularity.

Reason (R) : Analogy brings about
regularity in the paradigm.
Codes :
(A) (A) is true, (R) is false
(B) (A) is false, (R) is true
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

21. Assertion (A) : Pronoun
replacement, repetition and variation
are all cohesive devices.

Reason (R) : They work by repeated
reference to something within the
text.
Codes :
(A) (A) is false, (R) is correct
(B) (A) is correct, (R) is false
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are false

22. Assertion (A) : Lexeme which is
related to other lexemes is related to
them in sense.

Reason (R) : Sense and denotation
are interdependent.
Codes :
(A) (A) is true and (R) is false
(B) Both (A) and (R) are true
(C) (A) is false (R) is true
(D) Both (A) and (R) are false

23. Assertion (A) : Every word has a

semantic relation of some kind with

every other word.

Reason (R) : Sense relations are the

relationship between word meanings.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true, (R) is false

(D) (A) is false, (R) is true

24. Assertion (A) : Derivational morphemes

are usually added to closed classes of

words.

Reason (R) : Derivational morphemes

increase the vocabulary of a language.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is false, (R) is true

(D) (A) is true, (R) is false

25. Assertion (A) : If the subject of an

infinitive clause is null, then it is called

a PRO.

Reason (R) : A PRO is the subject of

a non-finite sentence without any

phonetic realization.

Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(C) (A) is true, (R) is false

(D) (A) is false, (R) is true
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26. E�
����(A)�p�* 0�$(���������'O��
����� ���
659
���	�DR&�����"���$2�H���	���
��%
�,7�R�(R) : * 0�$(���������'O��
����� ���
659
���)��
���)� 0�	����"�0
��$��
�
��'��&"���0���
%
�� ��
#�������:
(A) (A) 0����J��(R) ��$
(B) (A) ��$�(R) 0����J
(C) (A) 	��0����(R) C��8�����$
(D) (A) 	��0����(R) C��8���0����J

27. E�
���� (A)� p� 1����N���'0�N��	���� ����!2
��
*(�I&	�D%
�,7�R�(R) : <��(
,�<@�E�?
��%
�� ��
#�������:
(A) (A) ��$�*���
�(R) 0����J
(B) (A) 	��0����(R) C��8�����$
(C) (A) 	��0����(R) C��8���0����J
(D) (A) 0����J��*���
�(R) ��$

28. E�
����(A)�p�.�A��!���5	�h
����0�%
�,7�R�(R) : .�A��!���5	�h
���J9�>	5�
.�A�5N0��(����� &'0�%
�� ��
#�������:
(A) (A) ��$�*���
�(R) 0����J
(B) (A) 0����J��*���
�(R) ��$
(C) (A) 	��0����(R) C��8���0����J
(D) (A) 	��0����(R) C��8�����$

29. (
�����	��2�������(5�5���(�'	��	5��	5N(���U2������"
)
� ������5
���"�*$�%
(A) 	�UE�50��(��	5N(���U7�����5 0����	5N(���U7

������� ]�	5N(���U7�*�
�150��(��	5N(���U
(B) ����5 0����	5N(���U7�*�
�150��(��	5N(���U7

������� ]�	5N(���U7�	�UE�50��(��	5N(���U
(C) *�
�150��(��	5N(���U7�	�UE�50��(��	5N(���U7

������� ]�	5N(���U7�����5 0����	5N(���U
(D) ������� ]�	5N(���U7�	�UE�50��(��	5N(���U7

����5 0����	5N(���U7�*�
�150��(��	5N(���U

30. (
�����	��2�������	5N(���h50��(��o�(�2���

*�
��)�U�(�'	��	����"�*$�%

(A) ����7�<(�4��7�������� ]7�	5(�N

(B) <(�4��7�����7�������� ]7�	5(�N

(C) <(�4��7�������� ]7�����7�	5(�N

(D) ����7�<(�4��7�	5(�Nt7�������� ]

31. ��6595-P5b�2����(
�8��2
2������"�*.�$�

(5�5���(�'	��������)
� ��%

(A) P5(
�B��2
'	�L�7�u�3E�5 8��3������e��7

-���	�L���5NB
�	�7

-���	�L��C��%7�	��L�%�	5N 2�

(B) 	��L�%�	5N 2�7�u�3E�5 8��3������e��7

P5(
�B��2
'	�L�7�-���	�L���5NB
�	�7

-���	�L��C��%

(C) u�3E�5 8��3������e��7�P5(
�B��2
'	�L�7

	��L�%�	5N 2�7�-���	�L��C��%7

-���	�L���5NB
�	�

(D) 	��L�%�	5N 2�7�P5(
�B��2
'	�L�7

u�3E�5 8��3������e��7�-���	�L�

�5NB
�	�7�-���	�L��C��%

32. ]���� v
N�*.5�����	
���
�65��0����6595

	���
0���2������"�)
� ��%

(A) ? 8
�w*��N��7�*�
�jwx��DW(�7

�5'-8�7�WB
`
�w!�����

(B) �5'-8�7�? 8
�w*��N��7�WB
̀ 
�w!�����7

*�
�jwx��DW(�

(C) ? 8
�w*��N��7�WB
̀ 
�w!�����7��5'-8�7

*�
�jwx��DW(�

(D) ? 8
�w*��N��7��5'-8�7

*�
�jwx��DW(�7�WB
̀ 
�w!�����
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26. Assertion (A) : Internal reconstruction
does not take into consideration the data
of a single language.
Reason (R) : Internal reconstruction
attempts to posit an earlier stage of the
language.
Codes :
(A) (A) is false, (R) is true
(B) (A) is true, (R) is false
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

27. Assertion (A) : The empty marker is
a kind of morpheme.
Reason (R) : It has no meaning.
Codes :
(A) (A) is true but (R) is false
(B) Both (A) and (R) are true
(C) Both (A) and (R) are false
(D) (A) is false but (R) is true

28. Assertion (A) : Sound change is regular.
Reason (R) : Sound change is purely
phonetically conditioned.
Codes :
(A) (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

29. Select one of the following items in which
the grammars are arranged in order
diachronically.
(A) Descriptive grammar,

Transformational grammar,
Phrase structure grammar,
Prescriptive grammar

(B) Transformational grammar,
Prescriptive grammar, Phrase
structure grammar, Descriptive
grammar

(C) Prescriptive grammar, Descriptive
grammar, Phrase structure
grammar, Transformational
grammar

(D) Phrase structure grammar,
Descriptive grammar,
Transformational grammar,
Prescriptive grammar

30. Select the hierarchical order of

grammatical items in the following :

(A) Word, Syllable, Phrase, Sentence

(B) Syllable, Word, Phrase, Sentence

(C) Syllable, Phrase, Word, Sentence

(D) Word, Syllable, Sentence, Phrase

31. Arrange the chronological order of the

contributions by linguists.

(A) Jacob Grimm, Ferdinand de

Saussure, William Labo, William S.,

Y. Wang

(B) Y. Wang, Ferdinand de Saussure,

Jacob Grimm, William Labo,

William S.

(C) Ferdinand de Saussure, Jacob

Grimm, Y. Wang, William S.,

William Labo

(D) Y. Wang, Jacob Grimm,

Ferdinand de Saussure, William

Labo, William S.

32. Arrange in order the language families

in India based on the population.

(A) Indo-Aryan, Austro-Asiatic,

Dravidian, Tibeto-Burman

(B) Dravidian, Indo-Aryan, Tibeto-

Burman, Austro-Asiatic

(C) Indo-Aryan, Tibeto-Burman,

Dravidian, Austro-Asiatic

(D) Indo-Aryan, Dravidian, Austro-

Asiatic, Tibeto-Burman
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33. ? ���Y���<(����(��;'�D����	���?	����"
0
2
���(
����y0���
%

I. (�0�IEt7��
����(�	��E7�<�
����(�	��E
II. (�0�IEt7��5.���(5��(����'0�N��7���)�0�A����O�(�

III. � ����;'+����	�������65��5�����

IV. (�0�IEt7��
����(�	��E7�<�5�5��

�� ��
#������ :

(A) I 	��0���� II ��$

(B) I 	��0���� III ��$

(C) II 	�D0�'���$

(D) IV 	�D0�'���$

34. ����';'+�2������"�*�
��)�U�(�'	������
)
� ����K���"�*$�%
(A) 	�N;�659
�w�659
�w�������3
(B) 659
�w�������3�w�	�N;�659

(C) ������3�w�659
�w�	�N;�659

(D) 	�N;�659
�w�������3�w�659


35. 6595-P5b��������	
�^�
��$���	��!2
�������
(
��2
� (5H����	����$(�
J�
2������"�<���(�'	��	5�
*+�,	�D3�p
(A) ������� ]���O��5�	5N(���U7��(��0�	���o�(�

-1
��9�h
7� ��$	�0�E�50��(�� ���	��2����7
*����O��
�	��0����	
���
�r^���O��


(B) *����O��
�	��0����	
���
�r^� ��O��
7� �(��0�	��
o�(��-1
��9�h
7�������� ]���O��5�	5N(���U7
��$	�0�E�50��(�����	��2����

(C) �(��0�	���o�(��-1
��9�h
7�������� ]���O��5
	5N(���U7� ��$	�0�E�50��(�� ���	��2����7
*����O��
�	��0����	
���
�r^���O��


(D) ��$	�0�E�50��(�� ���	��2����7� �(��0�	��
o�(��-1
��9�h
7�*����O��
�	��0���� 	
���
�r^
��O��
7�������� ]���O��5�	5N(���U

36. 659
���1
'�H�(�I0����O��
�����"�R�2

��'&�k��!)������p
(A) 	5(�N�-P5b���w�*(�I&	�D�-P5b���w

.�A�	�D�-P5b���w�.�A��-P5b��
(B) .�A��-P5b���w�*(�I&	�D�-P5b���w

.�A�	�D�-P5b���w�	5(�N�-P5b��
(C) *(�I&	�D�-P5b���w�.�A�	�D�-P5b���w

.�A��-P5b���w�	5(�N�-P5b��
�(D) 	5(�N�-P5b���w�.�A�	�D�-P5b���w

*(�I&	�D�-P5b���w�.�A��-P5b��

37. ��W> – I 	��0����II����"�)
� ��%
��IJ – I ��IJ – II

a) B��(b) I. F6�+��9�irN�<z��9����J1�E
b) ���(N) II. (5(�
N�z��9��(� c0�
c) u�� (f) III. 	�0�erNE�z��9���� o9�E
d) �{��(Z) IV. �� 0
��9�irN�<z��9�

�� o9�E
�� ��
#�������:

a b c d
(A) I II III IV
(B) II I IV III
(C) I II IV III
(D) III I II IV

38. ��W> – I 	��0����II����"�)
� ��%
��IJ – I ��IJ – II

a) ����5 0��� I. 2
��� (Go)

b) <(�	��E(� II. 
̀�(��(Take)

c) <��u
a��� III. R	�L��
��|�(Himself)

d) ��a��(� IV. �5N`��(That)

�� ��
#�������:
a b c d

(A) II I III IV
(B) I II IV III
(C) III II I IV
(D) I III II IV
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33. A ditransitive verb in English is a verb

that takes

I. subject, direct object, indirect object

II. subject, instrumental, sociative

III. three arguments

IV. subject, direct object, ablative

Codes :

(A) Only I and II are correct

(B) Only I and III are correct

(C) Only II is correct

(D) Only IV is correct

34. Select the correct sequence moving

from a smaller to a larger

phenomenon.

(A) Idiolect-language-dialect

(B) Language-dialect-idiolect

(C) Dialect-language-idiolect

(D) Idiolect-dialect-language

35. Select the order of the following

concepts according to this

appearance in linguistics.

(A) PS grammar, IC analysis,

Transformational rules, Deep

structure and Surface structure

(B) Deep structure and Surface

structure, IC analysis, PS

grammar, Transformational rules

(C) IC analysis, PS grammar,

Transformational rules, Deep

structure and Surface structure

(D) Transformational rules, IC

analysis, Deep structure and

Surface structure, PS grammar

36. The hierarchical structure of language
can be represented as
(A) Syntax – Morphology – Phonology

– Phonetics
(B) Phonetics – Morphology –

Phonology – Syntax
(C) Morphology – Phonology –

Phonetics – Syntax
(D) Syntax – Phonology – Morphology

– Phonetics

37. Match the following List – I with List – II.

List – I List – II
a) b I. Bilabial voiceless

plosive

b) N II. Uvular voiced trill

c) f III. Alveolar voiced
fricative

d) Z IV. Labiodental
voiceless fricative

Codes :
a b c d

(A) I II III IV
(B) II I IV III
(C) I II IV III
(D) III I II IV

38. Match the following List – I with List – II.

List – I List – II
a) Transitive I. Go

b) Intransitive II. Take

c) Anaphor III. Himself

d) Complementizer IV. That
Codes :

a b c d
(A) II I III IV
(B) I II IV III
(C) III II I IV
(D) I III II IV
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39. ��W> – I 	��0����II����"�)
� ��%

��IJ – I ��IJ – II

a) =0�'�c I. ]�����

b) 	�UE�c II. =��5

c) <(�4�50��(� III. C
��659
2�G2����5	�D��N

d) ���50��(� IV. (���"8�

�� ��
#�������:

a b c d

(A) I II III IV

(B) III I IV II

(C) II IV I III

(D) I III IV II

40. ��W> – I 	��0����II����"�)
� ��%

��IJ – I ��IJ – II

a) C�	
� `�e�*u� I. )5N$���P
8�%C��%
<(M�>(�
u
a��
W(�e

b) �5N 2
A�P� II. 8
�-8��;'��>��

c) C�3(�4��$�*u� III. !��	�L�}���:��C��%
� �A�>(�e�*u�
u
a��
W(�e

d) 	
�@�8�e�?�� IV. 
N8
u
aP�:��c%
��j(�f����
� �A�>(�e

�� ��
#�������:

a b c d

(A) I II III IV

(B) II I IV III

(C) IV III II I

(D) I IV II III

41. ��W> – I 	��0����II����"�)
� ��%

��IJ – I ��IJ – II

a) <�
a(
���� I. ����(
��
���.�A���
����

b) ���(
���� II. ����	
���
�.�A���
����

c) 	
�`5@
��� III. ������8��-���.�A���
����

d) <u5N�
��� IV. .�A����
��

�� ��
#�������:

a b c d

(A) I II III IV

(B) I III IV II

(C) II III I IV

(D) II I IV III

42. ��W> – I �������	��-9���	����"���W>��– II��
� �2


)
� ��%

��IJ – I ��IJ – II

a) 0
��8� I. 	��� 85

b) v5� II. �5'-8�

c) �� P5n III. �������w<�5>#�(�

d) �;E9� IV. ? 8
��w*��E��

�� ��
#�������:

a b c d

(A) II I IV III

(B) I II III IV

(C) III II IV I

(D) II I III IV
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39. Match the following List – I with List – II.

List – I List – II

a) Pictograms I. German

b) Alphabets II. Chinese

c) Syllabic III. Common to all

languages

d) Logograms IV. Kannada

Codes :

a b c d

(A) I II III IV

(B) III I IV II

(C) II IV I III

(D) I III IV II

40. Match the following List – I with List – II.

List – I List – II

a) Elements of I. Harris Z. S.

Acoustic

phonetics

b) Language II. David Crystal

c) A dictionary of III. Bloomfield L.

linguistics of

phonetics

d) Methods in IV. Ladefoged P.

structural

linguistics

Codes :

a b c d

(A) I II III IV

(B) II I IV III

(C) IV III II I

(D) I IV II III

41. Match the following List – I with List – II.

List – I List – II

a) Apocope I. Deletion of final

sound

b) Syncope II. Deletion of initial

sound

c) Metathesis III. Deletion of a

medial sound

d) Aphaeresis IV. Interchange of

sounds

Codes :

a b c d

(A) I II III IV

(B) I III IV II

(C) II III I IV

(D) II I IV III

42. Match the following List – I with List – II.

List – I List – II

a) Toda I. Munda

b) Khasi II. Dravidian

c) Punjabi III. Ural-Altaic

d) Turkish IV. Indo Aryan

Codes :

a b c d

(A) II I IV III

(B) I II III IV

(C) III II IV I

(D) II I III IV
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43. ��W> – I 	��0����II����"�)
� ��%
��IJ – I ��IJ – II

a) P5P�E��
(5u� I. .�A�	�D�-P5b��
b) P
�	�L�e II. *(�I&	�D�-P5b��

	�DN(�	��

c) (
%�C��%��
̂ (� III. F05J�(��	5(�N�-P5b��
d) ?%�C%��
̂85 IV. F05J�(��<@�E�-P5b��
�� ��
#�������:

a b c d
(A) III IV I II
(B) I II III IV
(C) II III I IV
(D) II I IV III

44. ��W> – I 	��0����II����"�)
� ��%
��IJ – I ��IJ – II

a) (� S�N�<z��9���� o9�E I. ���(l)
b) �5[AE(� II. ��� (r)
c) 	�0�erNE�(� c0� III. (�e��(X)
d) (5(�
N�z��9����J1�E IV. 2�� (G)
�� ��
#�������:

a b c d
(A) I II III IV
(B) III I II IV
(C) II I III IV
(D) I III IV II

45. ��W> – I 	��0����II����"�)
� ��%
��IJ – I ��IJ – II

a) x(5(�4�� I. � ����<(�4����
b) x(5(�I&	�D II. � ����<@�E��
c) x(5@�E(� III. � ����*(�I&	�D��
d) x(���O��50��(� IV. � ������O��
���.�A�

.�A��-P5b��
�� ��
#�������:

a b c d
(A) I III II IV
(B) II I III IV
(C) III II IV I
(D) II I IV III

46-50�p�(
������	5(�N	�I ��	����"�Q��(
�W>���	�
��'1
"2������"�F0��$�%
659
�C !������� ��O��50��(�	5�������C !
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�5.�N	52��	���
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46. ‘You’ \���_�C !������(5��E
(A) 	����� (B) (�0�IE
(C) *v5N0� (D) 	
�������D	������<
�

47. �� (��=0������5 0����;'+��(
��2
�(5H����	�
(�'	��������	�D0�'	
��*��
%
(A) ?������J9�>	5��
�	��0����������<�
A�Y���5�

(B) ��������� 0����F05J����&����	���
��	��0���

��J9�>	5��

(C) ��������� 0���	5��F05J����&����	���
�

	��0����<�������)�]�F��+��2�
(D) ��� 0����!��(
�?��K�
�	�D0�'������

<�
A�Y���!)���
 !�< 1����J9�>	5��

	��0����659
�����'+��]���<�
��*��


48. ��	5(�N	�I ��������!��(
�D����	�
�.5E��(�2��
 ���

(A) a, the, this (B) a, the
(C) a, the, that (D) the

49. ��	5(�N	�I �������! ����	���� ! .����O�(�
��	�E�5	���C ���

(A) this (B) you
(C) your (D) that

50. ‘Speaker’ C !�����
(A) ��I~��	������, (B) �.5E��(�
(C) (�0�IE (D) 65	�������____________
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43. Match the following List – I with List – II.
List – I List – II

a) George Lakof I. Phonology
b) James McCawley II. Morphology
c) K. L. Pike III. Generative

syntax
d) E. A. Nida IV. Generative

semantics
Codes :

a b c d
(A) III IV I II
(B) I II III IV
(C) II III I IV
(D) II I IV III

44. Match the following List – I with List – II.
List – I List – II

a) Velar voiceless fricative I. l
b) Lateral approximant II. r
c) Alveolar trill III. X
d) Uvular voiced plosive IV. G
Codes :

a b c d
(A) I II III IV
(B) III I II IV
(C) II I III IV
(D) I III IV II

45. Match the following List – I with List – II.
List – I List – II

a) Monosyllabic I. With a single
syllable

b) Monomorphemic II. With a single
meaning

c) Monosemy III. With a single
morpheme

d) Monosystemic IV. With a single
phonology system of

phonology
Codes :

a b c d
(A) I III II IV
(B) II I III IV
(C) III II IV I
(D) II I IV III

46-50 : Read the passage below and answer
the questions :

This creative use of language is quite
incompatible with the idea that language is a
habit-structure. Whatever a habit-structure
is, it’s clear that you can’t innovate by habit.
and the characteristic use of language, both
by a speaker and a hearer, is innovative.
You’re constantly producing new sentences
in your lifetime-that’s the normal use of
language.

46. The function of ‘you’ is
(A) Object (B) Subject
(C) Predicate (D) None of the above

47. The contraction transformation has
been taken place only in the sequences.
(A) It’s clear and you can’t innovate
(B) You’re constantly produced and

it’s clear
(C) You’re constantly produced and

that’s the normal use
(D) It’s clear, you can’t innovate,

you’re constantly produced and
that’s the normal use

48. The determiners used in this passage
are
(A) a, the, this (B) a, the
(C) a, the, that (D) the

49. The genitive pronoun occurred in this
passage is
(A) this (B) you
(C) your (D) that

50. The word ‘speaker’ must be
(A) Intensifier (B) Determiner
(C) Subject (D) Infinitive____________



������� Total Number of Pages : 16

Paper II 16 K-3817

L#����@7�E��,M4���[��
Space for Rough Work


